
58
80

Fr
om

 le
ak

 s
ill 

to
 in

sid
e 

ro
of

 ri
dg

e
Va

n 
le

kd
or

pe
l n

aa
r b

in
ne

nz
ijd

e 
no

k

1955

427,5 1100

23
05

Fr
om

 le
ak

 s
ill 

to
 b

ot
to

m
 w

in
do

w
 fr

am
e

Va
n 

le
kd

or
pe

l n
aa

r o
nd

er
zij

de
 k

oz
ijn

22
45

64°

58
°

Window Frame
(Partial)

80

977,5

80

345

345

977,5

62
10

50
10

50
10

50
10

50

20
0

12
50

53
0

50
9

80
0

149 149

13
0

Position brackets

Nummer 17; Voorgevel (1 stuks)
Status Released

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
ORDERNUMBER

DATE
SCALE
ENGINEER

QTY
REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

01
02
03
04

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:10
8-1-2020

SD180308-F2

180308-17V-000 1 A0:4

RAL 7021-70%
Douglas, Black
Black

Material

68W

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



42
70

 R
ac

k 
Ar

m
; P

itc
h 

14
0 

m
m

 (1
0)

25
90

 R
ac

k 
Ar

m
; P

itc
h 

14
0 

m
m

 (1
0)

91
0 

Ra
ck

 A
rm

; P
itc

h 
14

0 
m

m
 (1

0)

750 Edge RA

42
15

 O
pe

ra
tin

g 
St

rip
(H

ol
e 

fo
r f

ixi
ng

 b
ra

ck
et

 b
et

w
ee

n 
2n

d 
an

d 
3r

d 
cli

p)

21
15

 O
pe

ra
tin

g 
St

rip
(H

ol
e 

fo
r f

ixi
ng

 b
ra

ck
et

 b
et

w
ee

n 
2n

d 
an

d 
3r

d 
cli

p)

25
35

 O
pe

ra
tin

g 
St

rip
(H

ol
e 

fo
r f

ixi
ng

 b
ra

ck
et

 b
et

w
ee

n 
2n

d 
an

d 
3r

d 
cli

p)

85
5 

Op
er

at
in

g 
St

rip
(H

ol
e 

fo
r f

ixi
ng

 b
ra

ck
et

 b
et

w
ee

n 
2n

d 
an

d 
3r

d 
cli

p)

75
0 

Ed
ge

 R
A

897,5 897,5

265 265

 = 92 =
(Center)

10
14

0

55

31°

59°

21
7,

5

Nummer 17; Voorgevel (1 stuks)
Status Released

ITEM NO. QTY. SW-Part Number DESCRIPTION Comment 2

1 2 180308-00-100 Standard Rack Arm, 35 mm, 
Pitch 140 (10) Assembled

2 25 58 623 Omega H-55, 29x54x31x54x29 x 3 
mm, lg=20mm L=20

3 1 180308-00-100 Standard Rack Arm, 35 mm, 
Pitch 140 (10) Assembled

4 2 180308-00-100 Standard Rack Arm, 35 mm, Pitch 
140 (10) Assembled L=2590

5 2 180308-00-100 Standard Rack Arm, 35 mm, 
Pitch 140 (10) Assembled

6 31 180308-17V-68W Louver 68W L=1940

7 1 180308-17V-68W Louver 68W L=1810

8 1 180308-17V-68W Louver 68W L=1635

9 1 180308-17V-68W Louver 68W L=1460

10 1 180308-17V-68W Louver 68W L=1285

11 1 180308-17V-68W Louver 68W L=1110

12 1 180308-17V-68W Louver 68W L=935

13 1 180308-17V-68W Louver 68W L=760

14 1 180308-17V-68W Louver 68W L=585

15 1 180308-17V-68W Louver 68W L=410

16 1 180308-17V-68W Louver 68W L=235

17 2 180308-17V-07 035 
Edge RA Edge Rack Arm, 35 mm L=750

18 10 * 88 300
Turnable Edge Pivot Kit S-System 
Pitch-70/90 (incl. short slat clip & 

screw)

19 27 901 06 16 DIN 933 Hexagon Head Bolt M6x16

20 27 908 06 DIN 125-1A Plain Washer M6

21 27 910 06 DIN 934 Hexagon Nut M6

22 27 911 06 DIN 6798-A Lock washer M6

23 4 180308-00-103 Fixing Clip Wood Louver Long L=130

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
ORDERNUMBER

DATE
SCALE
ENGINEER

QTY
REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

01
02
03
04

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:10
8-1-2020

SD180308-F2

180308-17V-000 2 A0:4

RAL 7021-70%
Douglas, Black
Black

Material

68W



1940

7,5 7,5

140 140

Pi
tc

h 
 =

 1
40

20
5

10

17
2

2
25

5
2

16
1

15
1

14
1

13
1

6
31

3
1

1
2

4
2

18
10 *

A

22
27
19
27

21
27

20
27

59°

31°

DETAIL A
SCALE 1 : 2

21
7,

5
(D

ist
an

ce
 fi

xin
g 

br
ac

ke
t

Bo
tto

m
 O

S 
to

 c
en

te
r b

ra
ck

et
Fo

r a
ll 

RA
's)

Nummer 17; Voorgevel (1 stuks)
Status Released

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
ORDERNUMBER

DATE
SCALE
ENGINEER

QTY
REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

01
02
03
04

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:10
8-1-2020

SD180308-F2

180308-17V-000 3 A0:4

RAL 7021-70%
Douglas, Black
Black

Material

68W



1940

760

585

410

235

935

1110

1285

Nummer 17; Voorgevel (1 stuks)
Status Released

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
ORDERNUMBER

DATE
SCALE
ENGINEER

QTY
REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

01
02
03
04

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:10
8-1-2020

SD180308-F2

180308-17V-000 4 A0:4

RAL 7021-70%
Douglas, Black
Black

Material

68W


	Window Frame
	Drawing View1
	Drawing View4
	Drawing View5

	Rack Arms
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View26

	Complete
	Drawing View14
	Drawing View17
	Drawing View18
	Drawing View21
	Detail View A (1 : 2)
	Drawing View25

	Louvers
	Drawing View22
	Drawing View23


